sl ASSEMBLY GUIDI

THE T-34-85 IN DETAIL

The three-man turret on the T-34-85 was one of several signifi
greatly enhanced its combat effectiveness in comparison with |
Here is a view of the turret seen from above, and this is the pa
start when you come to assemble the model.

he turret roofs on the T-34-85 varied depending on scope. The most important di erence between the turret
the factory at which they were manufactured. Its  designs was the location of the commander’s cupola.
turret armor thickness was 20 mm, as compared to In 1944, cupola production was increased, and the early

In 1944 this -34-85
was equipped with

a commander’s cupola,
for which a ledge was
provided on the side of
the turret.

T
xgret

-
—
'&_




ASSEMBLY GUIDls— sl ASSEMBLY GUID

COMPONENT NAME QUANTITY Component COdeS
001A Turret roof 1 Code numbers refer to the issue number in which the parts
001B Loader’s hatch 1 are supplied (001 = issue 1 and so on) and a letter code
001C Loader’s hatch hinge 1 (A, B, C...) to distinguish each piece. Hence 001A = issue 1,
. . part A (turret top).
001D Hinge pin 1
001E Periscope window 2 screw COdeS
001F Periscope body Screws are |d§nt| ed by Fhelr diameter x length in milli
i metres. Those which screw into metal have the letter code M;
001G 2mm Screwdriver 1 those for plastic have the code P. Di erent types and lengths Carefully insert the hinge pin (001D) through the hinge
001H Tweezers 1 have a letter pre x (A, B, C...) for ease of identity. lock the pieces together. Do not force the pin — you ma:
BP 1.7 x 4mm screw 3+1* Hence a BP screw is 1.7mm x 4mm for plastic. to twist the hinge back and forth slightly to align the ce

hole. Use your ngernail or small pliers to push the pin all the

* includes spare
through.

Place the loader’s hatch (001B) over
port in the turret roof (001A) and alig
the hinge (001C) with the correspong
socket behind the port. Press the hinge into
socket and hold the hatch door in place whi
you turn the
assembly upsidg
down.

Fix the hinge
4(001C) to the SELF-TAPPING
turret roof us- SCREWS
ing one type BP screw Self-tapping screws cut their own thread
from the underside, as in plastic. To make this easier, drive the screw
shown — see Self-Tap- only part of the way in at rst. Then give the screw
ping Screws (right). a half turn, anti-clockwise, before continuing
to tighten it. This will release the plastic shavings
created as the screw cults its thread, and so help
to prevent the screw from jamming before
it is fully tightened. Repeat as necessary.

Always grip the screwdriver rmly and hold

F I . it upright to prevent it slipping out of
as shown. Be careful to o set the hinge sections so t . the screw head.

inge plates align. Press together to engage the hing




ASSEMBLY GUIDRls—

PHILLIPS SCREW HEADS Phillips

All screws supplied with your T-34 tank kit are of the Phillips cross-head type. 2o
Do NOT use a Pozidriv screwdriver, as its angled tip di ers from that of a Phillips type
and there are four extra splines in the quadrants, so a good grip with the head of the screw Pozidriv
will not be made and you may burr the head. head

his is how your model should look once this asse|
bly stage is completed. The loader’s hatch can no
Repeat step 5 for the other peri- be hinged up and down as you wish — but must be

scope window (001E) and perisco handled with care. Keep the assembly in a safe place u
body (001F). next stage.




THE T-34-85 IN DETAIL

Fitting an 85mm cannon to this tank greatly enhanced its firepc
to fight one-on-one against German tanks, and even against st
the “Tiger” and the “Panther”.

rly versions of the T-34-85 had been equipped with ancannon (and later with the ZIS-C-53), 1944 model, with
85mm D-5T (or D-5-T85) cannon with a long 51.6 ca- a long 54.6 caliber barrel. The weight of the unarmored
Iber barrel. This cannon weighed around 1530 kg and tipping part of the cannon was 1150 kg, and the maximum
d a maximum recoil length of 320 mm. It had had a recoil length was 330 mm. The elevation varied from -5° to
wedge breech block, similar to the wedge on the T-34 can- +22°. The cannon had a vertical breech block with a semi-
non, with a semi-automatic gear of mechanical type. automatic gear of mechanical type.

The recoil mechanisms comprised a hydraulic recoil bu er The cannon trigger mechanism comprised electrical and
and a hydro-pneumatic return gear located above the barrel:mechanical (manual) triggers. The electrical trigger lever was
the return gear on the right, and the bu er on the left. located on the elevating hand wheel handle, while the manual

From March 1944, the T-34-85 was equipped with a -53 lever was located on the left-hand cannon armor plate.



002A
002B
002C
002D
002E
LM
PM

85mm cannon barrel
Cannon mantlet
Cannon base
Cannon breech left front
Cannon breech right front
2.3 x 4mm screw
2.3 x 6mm screw

1
1
1

1

1
6+2*
1+1*

*includes spares

002B;




THE T-34-85 IN DETA

The T-34-85 was equipped with the most outstanding Soviet ve
the Second World War, the 9PC. On the T-34-85 it was relocat
the turret, and from then on it was operated by the tank comme

e T-34-85 turret was made of fashioned cast steel. latches. The early versions of the tank equipped with a D-5T
At the front there were ports for tting the cannon, canon had lookout slits above these ports. In the 1944-1945
a coaxial machine gun and a turret sight. Outside versions, only one lookout slit at the right of the turret was
on the side walls of the turret, there were four lifting retained, near the tank loader. The -34-85s manufactured af-
eyes and three rails, and on the back there were six clips forter the war had no lookout slits in the turret, inside which, on
a tarpaulin. the left side, the 9PC transceiver radio set was located. It was
In the side walls of the turret there were ring ports a compact single unit, and was designed to be powered by
on each side covered by armour plugs and the 24 V vehicle network.



003A

003B-M

003N
0030
003P
003Q
HM

Turret left side 1
Decals (with Russian and Polish options) 12
Left turret handrail 1
Left turret power control box A 1
Left turret lock 1
Left turret lock base 1
2.0 x 4mm screw 2+1*

* includes spare

P
T @

CB—




003B

@D

@

003B




THE T-34-85 IN DETAIL

The ZIS-S-53 85 mm tank cannon was developed from the 52k
anti-aircraft gun and made use of the same ammunition.

e cannon was mounted in the embrasure at mechanism and the return gear were placed beneath
the front of the turret port by means of trunnions. the breech block base, which made it possible to lower
The cradle trunnions were demountable; and one  the ring line and extend the distance between the breech
end was xed to the turret brackets with bolts, while ring and the rear turret wall.
the other end was located in the cradle apertures, in which,  During the summer of 1944, the cannon was upgraded
to reduce friction, bronze collars were press- tted. and its barrel walls were thickened, which reinforced
At the front, the turret port was covered by a sliding armorthe bottom slide and the cradle. The trunnions were located
plate placed on the cannon barrel and attached to the front somewhat closer to the front. In the recoil mechanism,

of the cradle with bolts. the spindle pro le was modi ed, the cam was simpli ed
The S-53 cannon possessed the advantage of diering  and a new electric trigger button was introduced, while
favorably from comparison with other cannon by virtue the cannon armour mask was also modi ed. This cannon

of the simplicity of its design and its reliability. The recoil was designated the ZIS-S-53.



004A
004B
004C
004D
004E
004F
004G
004H
BM
DP

Turret right side
Right turret handrail
Right turret lock
Right turret lock base
Machine-gun magazine rack
Machine-gun ammunition magazine
UBR-365 85mm armour-piercing she
Cannon shell holders (right turret)
1.7 x 4mm screw
1.5 x 5mm screw

A DN R P R R

2
4+1*
8+2*

*includes spares

8-

tab




T




